
1) 𝑦 =
ln(lg(sin(𝑒−𝑥)))

−𝑒2  ;  

 

2) 𝑦 =
sin (ln (3x))∙ √𝑎𝑟𝑐𝑠𝑖𝑛(−2𝑥2)

3

−2
; 

 

3) 𝑦 =
𝑎𝑟𝑐𝑐𝑡𝑔2(2−𝑥2)

3−cos (2𝑥)
; 

 

Ats.: 

1. 𝑦′ =
1

−𝑒2 ∙
1

lg (sin (𝑒−𝑥))
∙

1

sin(𝑒−𝑥)ln (10)
∙ cos(𝑒−𝑥) ∙ 𝑒−𝑥 ∙ (−1) ; 

 

2. 𝑦′ = (𝑢𝑣)′ = 𝑢′𝑣 + 𝑢𝑣′ =
1

−2
∙ (cos(ln(3𝑥)) ∙

1

3𝑥
∙ 3 ∙ √𝑎𝑟𝑐𝑠𝑖𝑛(−2𝑥2)

3
+

sin (ln (3x)) ∙
1

3
(𝑎𝑟𝑐𝑠𝑖𝑛(−2𝑥2))

−
2

3 ∙
1

√1−(−2𝑥2)2
∙ (−4𝑥)); 

 

 

3. 𝑦′ = (
𝑢

𝑣
)

′
=

𝑢′𝑣−𝑢𝑣′

𝑣2 =

2𝑎𝑟𝑐𝑐𝑡𝑔(2−𝑥2)∙(−
1

1+(2−𝑥2)
2)∙(−2𝑥)∙(3−cos(2𝑥))−𝑎𝑟𝑐𝑐𝑡𝑔2(2−𝑥2)∙sin (2𝑥)∙2

(3−cos (2𝑥))2  


